
16. Cvičení

Vyšetřete průběh funkce.

1) f(x) = x3 − 3x2 2) f(x) = (2− x) · (x+ 1)2

3) f(x) = arctg
( 1

x+ 1

)

4) f(x) = sinx+ cosx

5) f(x) = x2 · e−x 6) f(x) = x ·
√
1− x

7) f(x) =
x3

(x − 1)2 8) f(x) = ln(x+
√

x2 + 1)

9) f(x) =
sinx

2 + cosx
10) f(x) = (x+ 5) · 3

√
x2

11) f(x) =
lnx√

x
12) f(x) = ln(2 cosx − 1)

13) f(x) =
x

(x − 2)3 14) f(x) =
2− x2

(x+ 3)2

Výsledky:
1) D(f) = R; limx→±∞ f(x) = ±∞; f ′(x) = 3x2 − 6x, f ′′(x) = 6x − 6.
2) D(f) = R; limx→±∞ f(x) = ∓∞, f ′(x) = 3(x+ 1)(1− x); f ′′(x) = −6x.
3) D(f) = (−∞,−1) ∪ (−1,∞); limx→±∞ f(x) = 0, limx→−1− f(x) = −π

2 ,

limx→−1+ f(x) = π

2 ; f
′(x) = −1

x2+2x+2 , f
′′(x) = 2(x+1)

(x2+2x+2)2 .

4) D(f) = R; 2π-periodická funkce; f ′(x) = cosx − sinx, f ′′(x) = − sinx − cosx.
5) D(f) = R; limx→−∞ f(x) = ∞, limx→∞ f(x) = 0; f ′(x) = x · e−x · (2 − x),
f ′′(x) = e−x · (x2 − 4x+ 2).
6) D(f) = (−∞, 1〉; limx→−∞ f(x) = −∞; f ′(x) = 2−3x

2
√
1−x
, f ′′(x) = 3x−4

4(1−x)
√
1−x
.

7) D(f) = (−∞, 1) ∪ (1,∞); limx→±∞ f(x) = ±∞, limx→1 f(x) =∞;
f ′(x) = x

2·(x−3)
(x−1)3 , f

′′(x) = 6x
(x−1)4 .

8) D(f) = R; lichá funkce; limx→±∞ f(x) = ±∞; f ′(x) = 1√
x2+1
,

f ′′(x) = − x

(x2+1)
√

x2+1
.

9) D(f) = R; lichá funkce, 2π-periodická; f ′(x) = 1+2 cosx
(2+cosx)2 , f

′′(x) = sinx·(cosx−1)
(2+cos x)3 .

10) D(f) = R; limx→±∞ f(x) = ±∞; f ′(x) = 5(x+2)
3 3
√

x
, f ′′(x) = 10(x−1)

9
3
√

x4
.

11) D(f) = (0,∞); limx→0+ f(x) = −∞, limx→∞ f(x) = 0; f ′(x) = 2−lnx

2x
√

x
,

f ′′(x) = 3 lnx−8
4x2

√
x
.

12) D(f) =
⋃

k∈Z
(−π

3 + 2kπ, π

3 + 2kπ); sudá funkce, 2π-periodická;

limx→ π

3
− f(x) = −∞, f ′(x) = −2 sinx

2 cosx−1 , f
′′(x) = 2(cosx−2)

(2 cosx−1)2 .

13) D(f) = (−∞, 2) ∪ (2,∞); limx→±∞ f(x) = 0, limx→2− f(x) = −∞,
limx→2+ f(x) =∞; f ′(x) = −2(x+1)

(x−2)4 , f
′′(x) = 6(x+2)

(x−2)5 .

14) D(f) = (−∞,−3) ∪ (−3,∞); limx→±∞ f(x) = −1, limx→−3 f(x) = −∞;
f ′(x) = −2(3x+2)

(x+3)3
, f ′′(x) = 6(2x−1)

(x+3)4
.


